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All Candidates' performance across questions

SD

Question Title N Mean Max Mark FF Attempt %

la 20033 1.6 0.8 2 77.8 97.6

21 15356 0.8 1.5 5 15.2 74.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Calculate the size of angle x.
You must show all your working. [4]
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Diagram not drawn to scale

Calculate the size of angle x.
You must show all your working.
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Diagram not drawn to scale

Calculate the size of angle x.
You must show all your working.

130 x> =540

[4]
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(Angle DOC or exterior angle =) 360(°)
5
=720
(x=) 180-72

2
= 54()

M1

Al

M1

Al

Answers/working may be seen on diagram.

Sight of 72 (even x = 72) gains M1A1.

FT ‘their 72’ (but not 60°).

Alternative method
(Sum of interior angles =)

(5 — 2)x180° or equivalent M1
= 540(°) Al
FT ‘their interior angle sum’ (# 900)

(x =) Y2 x (540 + 5) M1

= 54(°) Al
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Calculate the size of angle x.
You must show all your working. [4]

A\ k™. add S« to
o




Sticky Note

Initial correct step but 72 is not the value of x.










Diagram not drawn to scale

Calculate the size of angle x.

You must show all your working. [4]
Rbe=b =7 chet stigim
572 Sl e {af” = ep”
(082 =54 o
Sty =




Sticky Note

Correct solution using 'angle at a point = 360' method.
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Diagram not drawn to scale

Calculate the size of angle x.
You must show all your working. [4]

130 x> =540
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Sticky Note

Correct solution using 'sum of interior angles' method.










8. ABCDE is a regular pentagon with centre O.

D

A B

Diagram not drawn to scale

Calculate the size of angle x.
You must show all your working. [4]
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Calculate the area of the trapezium CDEF.
You must show all your working.

[4+20OCW]











AD = [ G, BY = YCIT ana UE = JC.
The perimeter of rectangle ABCF is 24 cm.

Calculate the area of the trapezium CDEF.
You must show all your working.

Mccaagle ARCE
Z+7=14

gu-lb=Mo. .= Y ls
3= .. e

[4 +2 OCW]











10. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.

ABCF is a rectangle.
CDEF is a trapezium.,
BD is a straight line.
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Diagram not drawn to scale + ook 1uwho
WUloovt e
AB=T7cm, BD =9cm and DE = 3cm.
The perimeter of rectangle ABCF is 24cm. bon"" 7 “la

Calculate the area of the trapezium CDEF.
You must show all your working. [4 + 2 OCW]
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10.
(BC =) (24 — 2x7)/2
(BC =) 5(cm)

(Area CDEF =) (7 +3) x(9—-5) or equivalent.
2

=20 (sz)

Organisation and Communication.

Accuracy of writing.

DRNRN

M1
Al
M1

Al

0ocC1

W1

Lengths may be seen on diagram.

A clearly shown incorrect method for finding CD is

MOADO otherwise CD=4(cm) implies this M1A1.

F.T. ‘their derived 5° OR

F.T. (7 + 3) x ‘their stated or shown length CD (<9)’
2

Allow M1 for correct intent e.g. ‘7 + 3 x 4 + 2’ then

AO.

Ignore any further attempt to find total area of

whole shape if area of CDEF seen.

For OC1, candidates will be expected to:
e present their response in a structured way
e explain to the reader what they are doing at
each step of their response
e lay out their explanation and working in a
way that is clear and logical

For W1, candidates will be expected to:
e show all their working
o make few, if any, errors in spelling,
punctuation and grammar
e use correct mathematical form in their
working
e USe appropriate terminology, units, etc.
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Calculate the area of the trapezium CDEF.
You must show all your working.

[4+20CW]

Rectang\e e B ks O b R F L PR

s s e T E ]




Sticky Note

No explanation of where the 4 came from.     OC0



Sticky Note

Incorrect units.  W0










AD = (M, BU = YCIT ana vE = JSCi.
The perimeter of rectangle ABCF is 24 cm.

Calculate the area of the trapezium CDEF.
You must show all your working.

[4 +2 OCW]
Ay
Motaagle AReE
Z+7=14 i na-

- =

s W W




Sticky Note

Both OC1 and W1 gained.










10. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.

ABCF is a rectangle.
CDEF is a trapezium.,
BD is a straight line.

E 3cm D
o |t Goun
Yow
78
F C
+7_ _‘_5*_5 9cm

= L&
S NS TED AR ao
F¢ toek

A B
7cm t(,.\z. St
. e
Diagram not drawn to scale + ook 1uwho
WUloovt e
AB=T7cm, BD =9cm and DE = 3cm.
The perimeter of rectangle ABCF is 24cm. bon"" 7 “la

Calculate the area of the trapezium CDEF.
You must show all your working. [4 + 2 OCW]
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Sticky Note

Candidate gained
OC0 (poor structure) and W1.
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10. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.

ABCF is a rectangle.
CDEF is a trapezium.
BD is a straight line.

E 3cm D
F C
9cm
A B
7cm
Diagram not drawn to scale
AB=7cm, BD =9cm and DE = 3cm.
The perimeter of rectangle ABCF is 24cm.
Calculate the area of the trapezium CDEF.
You must show all your working. [4 + 2 OCW]
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Diagram not drawn fto scale
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Diagram not drawn to scale
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Diagram not drawn to scale
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12. 3x-2+2x+1+5x-9=180
10x =190
x =19

Substituting x = 19 into at least one expression.
(3x—2=) 55(°) (2x+1 =) 39(°) (bx—9=) 86(°)
(So not a right-angled triangle)

NN NEN

M1
Al
Al

M1
Al

F.T. from ax = b. Allow all 3 marks for x = 19.

If x # 19 F.T. ‘their derived value of x'.

F.T. for this Al if x > 2.

Any two of these expressions correctly evaluated
with no incorrect evaluation, provided the sum of
the two found is > 90. (statement not required)
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Diagram not drawn fo scale
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Sticky Note

One error in solving equation.
Correct follow through using a derived x=17
M1A0A1M1A1










Diagram not drawn to scale
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Sticky Note

Correct for 5 marks but poorly set out.
Would have lost marks if it was an OCW question.










@x+1)°

Diagram not drawn to scale
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Sticky Note

No follow through marks if x is not a derived value.
M0A0A0M0A0.
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Diagram not drawn to scale
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Sticky Note

No follow through marks if x is not a derived value.
M0A0A0M0A0.










12. Show that the triangle below is not a right-angled triangle. [5]

Qx + 1P

Diagram not drawn to scale
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lies between 3 and 4.
Use the method of trial and improvement to find this solution correct to 1 decimal place
4]

x3-2x-45=0

You must show all your working.

3 S ——Qx& 5’“5“ -4. 175

_:.A__.377‘z5~.7_5<3 77“ 45 = ; 042
B 75,3 —Qk’}?S ij'f o 2 ﬁ

3{¢x —2x36 4s = —55%

37«3 72374 -u4s =-0- 66




Sticky Note

Answer not given to 1 decimal place.
B1B1M1A0.










x3-2x-45=0

lies between 3 and 4.
Use the method of trial and improvement to find this solution correct to 1 decimal place
4]

You must show all your working.
2Bt \ 10 2%-46-0) B/

il 85 20l Ews‘—q 125
B 3 {cx 2% 6_“4_5 -5 sw

317 A_ﬁ.A,_&vw»z_xs Ayos |04
75 i 75.5 - 24 375 Lfb’f 0=2 3%

@‘f 374 72374 —us =-0- 66
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Sticky Note

Incorrect choice despite accurate check. B1B1M1A0.
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You must show all your working.

5 B SN
X4

Wieh ainu nnprovenneni w ing uns SOiuuuin Cunect w 1 uecinig piace.

[4]

3,3 -2x3 - 45= - 24 Wi N B s




Sticky Note

Correct and efficient. B1B1M1A1.










USE e 1euiou U uial anu niplovernnieni w Hng uns SOiuun cunect w 1 gecnng place.
You must show all your warking.

5 Sl S 3 ‘3"‘2x3‘ =45 2224

X=3% . B -G -45 22777

L2308 BTS2 - 20305 24T 2 0:234315











13.

One correct evaluation 3<x<4

2 correct evaluations 3-65 < x < 3-85,
one <0, one > 0.

2 correct evaluations 3-65 < x < 3-75,
one <0, one >0.

X =37

S

Bl
Bl

M1

Al

Correct evaluation regarded as enough to identify
if negative or positive. Evaluations can be rounded
or truncated. If evaluations not seen condone ‘too

high’ or ‘too low'.

Look out for testing for x> — 2x = 45.

X 13 —2x—45

3 -24

31 -21-409

32 -18:632

33 -15-663

34 -12-496

35 -9.:125 3-55 -7-361...
36 -5.544 3-65 -3-672...
37 -1-747 3:74 -0-166...
3-8 2:272 3-75 0-234...
39 6-519 3.85 4.366...
4 11

Mark final answer.
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12

13. A solution to the equation
x3-2x-45=0
lies between 3 and 4.

Use the method of trial and improvement to find this solution correct to 1 decimal place.
You must show all your working. [4]
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